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Aritmetik for eksponenter (negative eksponenter)

4 − (−4) =(−2) (−8) + 10 =2

(−5) + 8 =0 5 − (−7) =2

3 + 8 =2 (−10) + 6 =

2 − 7 =(−2) (−4) − 2 =(−2)

5 + (−1) =2 (−10) − (−5) =(−2)

6 − (−5) =(−2) 6 + 4 =0

7 − 6 =(−2) 4 − 3 =2

7 − 10 =2 (−1) + 9 =2

1 + (−5) = 10 + (−8) =(−2)

(−3) + 5 =(−2) 8 + (−2) =0
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4 − (−4) = = 4(−2)

16
65

16
1

(−8) + 10 = 742

(−5) + 8 = 90 5 − (−7) = 322

3 + 8 = 172 (−10) + 6 = (−4)

2 − 7 = (− ) = (−6 )(−2)

4
27

4
3

(−4) − 2 = (− ) = (−1 )(−2)

16
31

16
15

5 + (−1) = 242 (−10) − (−5) = = 5(−2)

100
501

100
1

6 − (−5) = = 5(−2)

36
181

36
1

6 + 4 = 50

7 − 6 = (− ) = (−5 )(−2)

49
293

49
48

4 − 3 = 132

7 − 10 = 392 (−1) + 9 = 102

1 + (−5) = (−4) 10 + (−8) = (− ) = (−7 )(−2)

100
799

100
99

(−3) + 5 = = 5(−2)

9
46

9
1

8 + (−2) = (−1)0
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